he)
o
.m
-~ O
LS
=
3
O

mw_gw




m v 0 L 05 2z 265 7859 as 965} 8967 Ve szl | €
8 0 S | vz z6€ 681G E 00¥ 205 €L1'9 vl _ 5L | 1
W 0 ) € v 182 £51' 'oot'9 60% ve ~ lezg'e 619,

G € F v €z 162 vLE'S 1629 z6¢ 96¢ 66%'9 1892

b N v vz 69 50'E et LE€'9 96¢ £60'y '60Z°¢ 260'8

60€ 1z 622 9ze ger'l 8ET LY €8rErl 2951z 561 608'95 Y0 LLL ' €65'292

8 0 E H L8 186 119C 9EL'9 S 880'Y 090' vZ8'L

re 0 v 6 - ez E 6967 9059 168 Iz 159' 566, '8es o ¢

VA JOUIOVY)WNS [4VA IdHYV)WNS | VA UBISYYY)WNS JVA” VIVYY)WNS (VA UMYY)WNS [[dVA Yy)wng | ([dvA Jumiwns | (dva leo)wns | (aiuedsip)wns | (suojy yv)wns [auoly enumung | (dog 1eor)wing | 114 | 3unos | qun



